Y N AR
THRERELR o4
FepH i FAEIOLET Y 16 P
o FE L wiE- F % 1013150138 %
AR AEE R 16 BRI E SR ER B A RE L RE P
FRAZUPR KRS B RELT RS AR
1%:}7‘;1 :
- N B HRET 82T 3 o
=~ ’2%‘2 ABREBRRELES3BES LIS 120 %4152 R iE 27 mP| % 22 0%
S 47;11_:‘5\»‘ :;’:;25?[/3_‘_0
AR 151 I
~ BB TR 16 BREMRE A F o
B RE RIS EAE L
OB 4 8| & # % | B A E L3R
EMEAME | ¥ O MR E R F R H B %
CHE P SRR R Z gL
142 pdp P #3F101 297 8p (1¥H=)
2AEPER P E AR T AL o
3L 3 Bk
B RRAH 16 B kNI E A E P R s g
f;uw E’“%: %% oE b 8L AR 2R LA
01 0 ZARERP S ARG 4o 2 - FL6] 5L v 2 4t
02 |szmkis e HEARL LR AT 2 5 1 7
03 [iEH e (&g < H- ) |[@EsiEHy L2 1335 WA 2 64814 % 23 4%
04 MEARE SR Y O HIESRME R > PR 322 35 WHERT 2 13488 24 3 31 3%
05  |#ZR FIEAR L B HER 4 B 135 5 AT 104513 2 17 48
06  |#ZR¥ LR B R RIER 4 B 23 5 A1 26811 3 1248
07 WL - LR B Y L 1 & 11450 < &t
08  [fiE=x i ¥ »faFlxz IR B P Lk 2 B B0 B 2 ik
09 |- irfadd o FLESR S A2 A R 110 5L = A
10 |Bis s o AL PR H AL AR 54 2 1 B i



<y 9

—_\

)

b EE

-\

!

ol
=
Fr

e

11 |z= B FRERL O T R 24 50 o4l 3108
12 (2o dkbg®iEde o AT R AR 1 K479 % 65 (2w ll 2 2048
13 = Ak ®ERY o ARz AR LA BR 1012 1% (=23 13 104
14 RN R RSz A H L 2 BE 100 52 ZAF1E 2388
15 |[HREHAIERH < LSRR E ARk B 66 2 1 5L HE 4
16 v AGAL T E P FLIE NG 4G & R 30 5L v g+t
17 |2 RAFEHY HIEFR T kI8 GhER T6 5L RS
18 |[k(pREEERY < FIEFRL A4 g 150 22 35 k74
19 &R HIESRE T E R 46 5L 15 12 88
20 B AR ERY < HIEFRE B R 110 % 25413 3 27 4%
21 (GT) 5B TiEHo 0 IESRITE A A BB 90 5 18 5 R 1 38 A
22 () #RA R IEARIRH Z LB 45 R4 9 3 18 48
23 |FHEAFRER < IEME A HE N R 62 15 ¥ hH
24 |Z BAERERY < LR B BE 542 1B -

CiEE A GRES T BB £ ¢ AT S % 6,503,000 &

CATE R EAZ T AR MRS 16 B AR (4L N At




